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V&V Scientist Glenn Allen
V&V Date (YYYY-MM-DD) | 2012.09.25
V&V Edition 1
V&V Disposition and Status | OK
V&V Charge Time 12.075
Comments
Glenn,

Node 1 of Chip 2 has 8 columns with elevated adu values of 25-30
compared

to the rest of the node. Maybe that’s okay for cc-mode, but I thought
you

should check.

Joy

Joy,

As you note, there is a feature in the bias for CCD_ID=2, which appears
worst for 368 <~ CHIPX <~ 379. There are not enough events in this
region to determine with certainty whether the pulse heights are
systematically shifted or not. The total number of events in this
region does not appear to be inconsistent with the number expected from
the rest of NODE_ID=1 of CCD_ID=2. Furthermore, the distribution of
GRADEs for the region affected is consistent with the distribution of



GRADEs for the rest of NODE_ID=1 of CCD_ID=2. Since the source for this
observation is on CCD_ID=7 and there is no evidence of another source on

CCD_ID=2,

Glenn

I suggest that the bias be used as is.
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